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3. A9 3m o] FA= 3 kgo]‘/]q' HE2 9 6m o FA= &
kg A oA 2

1 2 1 2
Zk “k ~k -k ® 8k
® 6:kg @ 6:kg @75g @ 7 kg 8kg
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3 3 6 _1
35+35_63—75(kg)
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6.34=6+0.3+0.04

1.59 = |+| |+| |
@ 0.1,0.5,0.09 (@)1,0.5, 0.09 ® 0.1,0.05,0.09
@ 5,0.1,0.09 ® 9,0.5,0.01

1.59 =1+ 0.5+ 0.09
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[ ]-2414-2424-] ]

® 2.412,2.426 @ 2.314,2.524 @2.404, 2.434

@ 2.304,2.534 ® 2.41,2.43
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2.424 — 2.414 = 0.01°]t}.

wtzhA] 0,014 ol Al7]1E ot
AR [ |=2414-0.01 = 2.404
SRR [ [=242440.01 = 2.434




a0 Al S SHAl
(1) 0.3-0.1
(2) 0.8-0.5
@mo2203 @ 1)02(2)04 @ (1)04(2)02
@ (1)04(2)03 ® (1)04(2)04
(1)
03[ - [010]3 0.3
— 01| > [0lel1 | = | -]01
02 | « [ 0.10]2 0.2
(2)
08 [ - [ 0108 0.8
- 105 | > |01°]5| > | —-1]05
03 | « [ 0103 0.3
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15. t5 F Ht=A yebd 22 ol AR1A] A=Ale.

@ 1132m = 11.32km @54.1 kg = 54100 g
® 3km 90m = 3.9km @ 1.13kg=113g

® 17.02cm = 1702 mm

B

1m = 0.001km, 1g = 0.001kg, 1lmm = 0.1 cm

@D 1132m = (1132 x 0.001) km = 1.132km

® 3km90m = 3090 m = (3090 x 0.001) km = 3.09 km
@ 1.13kg = (1.13 x 1000) g = 1130 g

® 17.02c¢m = (17.02 x 10) mm = 170.2 mm
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(1) 2.77+5.08 (2) 5.16 + 12.78

@ (1) 7.75 (2) 62.94 @ (1) 7.75 (2) 17.94
® (1) 7.75 (2) 17.98 @)(1) 7.85 (2) 1704
® (1) 7.85 (2) 17.98

(1) 2.77 4+ 5.08 = 7.85
(2) 5.16 + 12.78 = 17.94
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11.92-384-279=] |-279=[ |

@ 8.16, 5.37 @ 8.16, 5.29 @ 8.08, 5.37
@8.08, 5.29 ® 8.06, 5.29

11.92 - 3.84 - 2.79 = 8.08 — 2.79 = 5.29




229 5= 100m a7 A SA= 15.73 %, trebs 13.88
22 71ZY#Urh 7t duterd o whex) Fehie

O $A, 1.75% @ vt 1.75% ® A, 1.85%

@Urﬂ}, 1.85% ® A, 1.95%

15.73 - 13.88 = 1.85 o] 2. &
Uepr} 1.85% o whac,
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10.802-7.263-1.998 = |-1.998 = |

@ 3.528, 1.54 @ 3.529, 1.541 @ 3.538, 1.54
@3.539, 1.541 ® 3.539, 1.551

10.802 — 7.263 — 1.998
= 3.539 — 1.998 = 1.541




20. o5 S Aol 8 & oA e,

@® 3.46 4 0.38 = 3.84 (@)5.04 +10.7=6.11
® 12.403 + 3.95 = 16.353 @ 4.675 + 6.382 = 11.057

® 15.68 + 30.763 = 46.443

@ 5.04 + 10.7 =15.74




21. o&<ErEA AR Ae 1EAL,

(1) 6.871 + 3.95
(2) 41.26 — 9.872

@ (1) 10.711 (2) 31.378 @ (1) 10.721 (2) 31.388

® (1) 10.811 (2) 31.378 @(1) 10.821 (2) 31.388
® (1) 10.911 (2) 31.378




22, [ |orol] ggre g w79 g 12X L.

(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9

® (1) 14.84 (2) 30.9 @ (1) 14.85 (2) 3.18

O

®)(1) 14.86 (2) 3.18

(1) 13.7m + 1.16 m = 14.86( m)
(2) 0.28m +2.9m = 3.18(m)




23. Ak go] 2 ARE Aer 7158 & AL B2,
@ 10.1 — 3.64
© 5.27 + 1.79
© 8.02-0.55
® 0-6-© @ 5-0-© ®e-ca
@® 066 ® ©-6-0

B

@ 10.1 - 3.64 = 6.46

© 5.27 + 1.79 = 7.06

© 8.02 - 0.55 = 7.47

e, 2 5 E AEY = 7|28 23
© 747, © 7.06, @ 6.46 ©]ct.
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29. thgolA 71 2 Sk olm ALY

@ 0.01°] 21321 & Oo 001°] 2135¢1 4=
@ 0.001°] 204091

O~
T
® 0.001°] 2004 %1 &=

S8 ~
@ 2.13

@ 2.135

® 2.04

@ 1.99

® 2.004

249 S7|= A dE H5o] 2= S
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=02 37|& vugych
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100 94712 54 171 4.87go 1, 50 98] 4 17]= 3.9¢go]gtr
Syt 1009 #E] 54 2709 50 9#tE] 54 370 5 o] Flo] ¥
g o FALA] FoHA L

@ 1009% 54 2707k 1.86 g B FHFU
@ 50942 54 3707 1.86 ¢ B FAF YT
® 1009#te] 54 2707 1.96 ¢ © T35
@)s0 972 52 37471 1.96¢ & BB
® 100 ¥4 54 2707F 1.97g B FHEHYTh

(100 972 T4 27])= 4.87 + 4.87 = 9.74( g)
(50972 T4 370)=3.9+3.9+3.9=11.7(g)
11.7-9.74 = 1.96( g)
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